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(2) &8 B 2H (Checked Exception) ,
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public class TestArException {
public static void computer() {
int x = (int) (1 + (Math.random() * 2)); //x=1,2,3
int y =(int) (Math.random() * 2); //y=0,1,2
int result;
result =x/y;
System.out.println("the result is:" +result);

}

public static void main(String[ ] args) {

computer();

}

R T AR AT AR AR A -

Exception in thread "main" java.lang.ArithmeticException: /by zero

at * ¥ x .TestArException.computer (TestArException.java:8)
at * ¥ x .TestArException.main(TestArException.java:12)

L R BT RS T B AR S % (ArithmeticException) , B2 518 1745 1k, 1845 0 4
H 15 A] System.out.println("the result is: " +result) R HAT , main O F LR S50 il 4k
k.

HENT B R T AT DL A TR — A 1 A5 1 6T BRSO (B R AT DU R A R R AR
R 5-2 fizR .
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public class TestArithmeticException If {
public static void computer() {
int x =(int) (1 + (Math.random() * 2));
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int y =(int) (Math.random() * 2);
int result ;
if (y !'=0) {
result =x/y;
System.out.println("the result is:" +result);
} else {
System.out.println("Devisor cannot be zero");
}
}
public static void main(Stringl ] args) f{
computer () ;
}
}
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‘ Devisor cannot be zero ‘
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try{
WA / /7T RE B S R B
} catch (* * x Exception e) {
WA ; /PE SR N G PR ) R
} finally {
WA //EE LW R RE, BRERATHAM
}

TE try---catch+-finally fCiGHLH ;
try H AV HRE LU TE B R REAE AR — B iR A . T OB i s s AT R AU A try
AR IR W RE AT T A SR 4, DR 7R SR AL H B B A catch
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(1) try.catch.finally Z AR AL 3k P & & 09 4 A 338 4 1k 524X AD 3k, 4k b 2 1] By 3R
TERMAA, FEZARAREFPLE A AL T, TL2LEFFRERARIF
.40 6.2.1 ¥R T FF A EAESR A try B A& finally B E 240 T & {is 91
ST BB try---catche--finally & 83 2 Sh 38 % o K 09 it 35

(2) Java ¥ 38 & M ALH) R A BDRAEAT 47 32 5 R L 35 0= ML 4] R AR DO R A
PAEHERAGALE, BRADEFTROF AL CELEGABLE RE ASHFK A2
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public class TestTry {
public static void computer () {

try {
int x =(int) (1 + (Math.random() * 2));
int y = (int) (Math.random() * 2);
int result =x/y; / /W] BE A S BT A
System.out.println("the result is:" +result);

} catch (ArithmeticException e) {
System.out.println("ArithmeticException ZEMXFHH ") ;
e.printStackTrace();

} finally {




b
[6)]
1
o
il
=
=

System.out.println("XJ& finally iHAJHL, BEMMATRI ) ;
}
}
public static void main(String[] args) {
computer() ;
}
}

FEARHS 5-3 T B F ) EAK result = x/y BUBEALE try WATHY b, Bl W00 Sk | T A X%
AR IB AT UE AT R (B y ! =0)

A x PR 2,y WEE 1,84 try B R 7 BOE & U7, iR A i «y Beilb AT
M, SR,

the result is: 2
& finally HEAHE, SMSHPATHY!

MRy BEE 0,384 result = x/y H ¥ ArithmeticException 5% X %, K FiZiEH]
B try BOWEAL, 50 6 42 B I # S TR KT, 15 A1) System.out.println("the result is:" +
result) AN FEHAT 56 0 BT 55 8 b BB AR .

catch (ArithmeticException e) {
System.out.println("ArithmeticException XL HIA") ;
e.printStackTrace();

}

UREC RS (1

ArithmeticException ZEHIXT 4 H #l
XJE finally IGAJEE, B BHATHY !
java.lang.ArithmeticException: /by zero

at * *x ¥ . TestTry.computer (TestTry.java:9)

at * ¥ ¥ . TestTry.main(TestTry.java:21)
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2Afi [l printStackTrace ) FIRITENRH X4 e PAFH T HHEREE .

TE 80 5 A B AR vl 55 22 4R 5 S A AR TE — D OTEE N SR T e ol 55 i
15 try Bt S A BACRS 78 catch B A RE b, 3 A ACAS AY 23 B AT LA LE A0l 55 22 4 5 A
15 M
523 ZRFELE—AEMEERE
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Exceptionl, Exception2, *=* {

/ /R ;

}

7 B AR

(1) throws J5 % 51| f 5 8 28 B 06 250 AT LU =5 B A7 Al RE4 1) S5 8 XF 2. 3k B n] e
Hh I AL T R R S A B R I 2 £, B catch TR B G T T AL B S R 2R

(2) X TR I REHL A0 53 S B P Al LT 3o 7 0. 28 5 1Y O S5 AQ 2R S 2R B
s T RFE WIS A B AT 7 I M T RE M BRGSO R R R
— B 9 5 5 throws Exception. (HIXFE 1 “ A1 5 7 J0 B T 5 4888 3 U0 57t X 52 11
2 AR AE Java AU — e B #EAE throws A5 81 Bir A1 | 5 0 2

(3) throws HZFEHML A9 57 2 i i 19 1 2828 B0 3 W WA R T f5 A . 5 throws
Je TP AL B S MUY TC % . 9

public void £() throws IOException, FileNotFoundException{ = }

FileNotFoundException Zf# B 10Exception, £ {O /7% H i Bl FileNotFoundException 3&
HIH) S Z 53 % i FileNotFoundException 28 #1458 5 457 , 1M A & 1OException 28 I AR &,
R4 TOException 5 TEHI M .

S A K AR T 5N K B S AP AL A0 S R ORI L RS Java (Y SR AL B
BA 4B RIEE 7 Java Pl throws JCHEF A By BE AT BRI 1 09 5 0, X S 2 i
XTG4 H B AT DA SR S — N BT 4 SR S 1E O IR R 2 AT DL LUF 5 O LA — 2 4y
SCEAE ., AANGE T throws HHEE LI 73 SC BB T 5. X AP ml 4h throws 5% XF £ 47
H AR — T A KRR AR AR A S SR X A AT St S P SRR T e 1) R R B2 L. X b
1 fire ke [R) R BEAIL A 20 T P FL AT AL B — B IF 0 2 RS BT L 2 Java v S i A0 B A% 0
BT EAS L B, RATFHE Java 19 APL & E A IFE R MBS 5% .

it FH X P 7 R A B AN AL B S H 1 07 58 L AT DA K AR = R P R A B . flan, — A
K B LI T R o Tl A P 24 5% M2 B IUL R X A £l 55 B # AT, 2
TP 24 ANAETE B B 2Ry 5 45 [ 0 24 Ry S i X 42 R AS O vk o L SRR R T L T
REHRH] P A AR AE RN 6 Ry 2s IR O . BT TEBR O Ml B throws £ AR , B4R H 7 ik 4b
P e A AT 5-4 R
/70T 5-4  ZICALFLRR 0 FH

public class TestThrows { [/ BACT R A B R

public static void computer() throws ArithmeticException({
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int x =(int) (1 + (Math.random() * 2));
int y =(int) (Math.random() * 2);

int result;

result =x/y;

System.out.println("the result is:" +result);

public static void exp(ArithmeticException e) {
System.out.println("ArithmeticException XX ZEHI") ;

e.printStackTrace();

public static void main(String [] args) {
try { //TEVA U 7 2 v gl b S
computer () ;
}catch (ArithmeticException e) {

exp(e);

Wy B 0, B ABITEE U,

ArithmeticException ZS5H X} 4 H Bl
java.lang.ArithmeticException: /by zero

at * ¥ ¥ .TestThrows.computer (TestThrows.java:8)
at ¥ ¥ x .TestThrows.main(TestThrows.java:14)

E EIRCIE H, computerO) Jy AR # A AL FE ArithmeticException X4 , T J& 5 X 4~ 5 % &
FEL5 B M mainO 77k . 1E mainO J7 ik F2 7 01 AT DLk % F s ab 81, e 5-3 Jif s, o
AT RAR AR B R A Y ZRHE 25 R main O 07 5 B9 TVML T JVM A8 FTER A b B3 7 %8 2 04 07
¥ printStackTrace O ¥ EI T8 HEXR . 40, main O J7 3 Y ArithmeticException 5% )5 %

mr.

public static void main(String [] args) throws ArithmeticException {
computer () ;

Wy B 0. B AT R,

Exception in thread "main" java.lang.ArithmeticException: /by zero

at * ¥ ¥ .TestThrows.computer (TestThrows.java:9)

at * ¥ ¥ .TestThrows.main(TestThrows.java:22)
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